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1. Using the law of diminishing marginal productivity and ground reality of
Nepalese farmers, explain why most of the farmers are not using recommended
dose of chemical fertilizers. 15

2. What are the role and importance of marketing information for market-oriented
agriculture production? 15

3. Explain the methods of evaluating outputs, outcomes, effects and impacts of a
small irrigation project. 15

4. Discuss the role of statistics in agriculture policy and plan formulation? 15

| fereeromenes ¥ FwmaTTE® I (Analytical and problemsolving) | 3 g5 X 20 9% = ¥0 @3

5. Trades of agricultural products are under bilateral, regional and multilateral
trading regimes. Which regime should Nepal prefer and why? 20

6. Using Ricardian theory and allocative efficiency, analyze the problems of land
tenancy in the country and suggest its market-based solutions. 20
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